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10.

INSTRUCTIONS FOR CANDIDATES

Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.

If more than one answers are marked, it would be treated as
WIONg answer.

Each question has four altemative responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using
BLUE BALL POINT PEN.

The OMR Answer Sheet is inside this Test Booklet. When
you arz directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars carefully with blue
ball point pen only.

1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an
incorrect answer or more than one answers for any question.
Leaving all the relevant circles or bubbles of any question
blank will not be considered as wrong answer.

Mobile Phone or any other electronic gadget in the
examination hall is sirictly prohibited. A candidate found
with any of such objectionable material with him/her will be
strictly dealt as per rules.

Please correctly fill your Roll Number in O.M.R. Sheet.
5 Marks can be deducted for filling wrong or incomplete
Roll Number.

If there is any sort of ambiguity/mistake either of printing
or factaal nature, then out of Hindi and English Version of
the question. the English Version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized
material is found in his/her possession. F.LR. would be lodged
against him/her in the Police Station and he/she would liable to
be prosecuted. Departinent may also debar him/her permanently
from all future examinations.
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Do not open this Test Booklet until you are asked to do so.
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1. Read both statements carefully and find which

of the statement is/are sufficient to answer the
given question -

I A and D are heavier than B, E and F but
none of them is the heaviest.

il A is heavier than D but lighter than C. E
is heavier than B and F.

Who is the heaviest among A, B, C, D, E and
F?

(1) T only (2) 11 only

(3) Both I and II (4) Neither Inor IIis

sufficient

- Aclock is placed such that at 12 noon its minute
hand points towards north-east. In which
direction does its hour hand point at 1:30 pm?

(1) West (2) South-east
(3) North (4) East

- ‘A’ ranks fifth in a class, ‘B’ is eighth from the
last. If “C’ is sixth after ‘A’ and just in the
middle of ‘A’ and ‘B’, then total students in the
class is equal to —

(1) 24 (2) 26

@) 23 (4) 25

- In the following figure, total number of
triangles is equal to —

=i
St

DI ST (@) B4 A ™ 9 $1 I
< B o) i R /8 -

I AR D,B,E3RF ¥ i W &
g 3 A e A w9 T

II A, DY f¥F W & IReg C A ol
2| E,B3RF Y 3if® 9 21

A,B,C,D,E3R F ¥ ¥ |a 9N &9 &7

(1) Baa 1 (2) BgAII
(3) T 1 &R I @9 a1 S0
e 2

- T TS Bl $9 YHR QT oal ® b SusR

12 991 3981 e @1 g STR-qd faum 3
IR I Bl 2| FHST " H GE <

1:30 991 fbe o9 &1 3R 2T H¥?
(1) gfd=m (2) =feror—gd
(3) TR (@) g

- A’ TP BET H UEd WM W) 2 B’ orfag

BR ¥ 3ed ®M W | IR ‘C’, ‘A’ P gwama
BS WM W 8 3R A’ 3R ‘B’ & teeA mg
4 Rer &, @ e # faenial & e den
TR § —

(1) 24 () 26

(3) 23 (4) 25

- fa= o A, et 9 g wer e R -

S
<z

(1) 15 (2) 13 (1) 15 (2) 13
(3) 14 4 12 (3) 14 4 12
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3. An apple costs T 7 each and a mango costs < 5

each. P spends ¥ 38 on both these fruits. The

number of apples bought is equal to —

(12 (2 3
(3) 4 (4) cannot be solved

- In a certain code language, ‘ORIENTAL’ is
written as ‘ALNTIEOR’ and ‘COMPUTER’ is
written as ‘ERUTMPCO’, then in the same
code language, ‘COVALENT’ will be written
as - '

(1) ERAORTIE (2) EROARTIP

(3) NTELAVCO (4) NTLEVACO

- If only two adjacent faces of a cube is coloured
and cut into 64 small equal cubes, then number
of small cubes, which are not coloured at all is
equal to -

(1) 32 () 36

(3) 40 4) 28

Directions — Questions 8 and 9 are based on the
diagram given below. Some numbers are
written in three figures-triangle ABC, rectangle
DEFG and parallelogram PQRS.

© TS U9 B Yol 7 3 IR AT 2 3R u i

9 5 X 9T T 8| P31 QM Bl W 38 %
A PRAT 2| WIS TS W&l R W 1R
3

(1) 2 (2) 3

(3) 4 (4) T & fbar w1 g

- T® e @ 9 H ‘ORIENTAL’ &

‘ALNTIEOR’ 3R  ‘COMPUTER’ o)
‘ERUTMPCO’ ferar irerm €, @ 9AM de A

H, ‘COVALENT’ $1 f3RaT Sinm —
(1) ERAORTIE (2) EROARTIP

(3) NTELAVCO (4) NTLEVACO

T T SR 64 B FA wAl § wer T E
al B uAl B e, S e A & W
T, TR T —

(1) 32 (2 36

() 40 (4) 28

e — ueT HerT 8 @ik 9 R R R w
SIRT €| BB FE&m O Reli-Bret ABC,
3 DEFG 3R ¥R ag4s PQRS # foreht
g &)

A X
S x
R 2
/1 |3 £\ S R
D 1 4
5 / 6 71 8 D / E 3
G > 5 / 6 7| 8
/9 2 F 5 a = +35 - ! :
P B Q 5 - : C
- Find the sum of the numbers which belong to Saer <) Bt @ © Y el s B
two figures only - AN 3T BT —
(1) 19 (2) 25 (1) 19 ' (2) 25
() 14 (4) 18 (3) 14 (4) 18
02- Page 3 of 32



9.

If the number which belongs to the rectangle
only is multiplied with the sum of the numbers
which belong to parallelogram onmly, resulting

9.

I Dl AT T THEHT G dTel] G=AT DI
DA AR TS 9 G Y@ arell

HEI1Ri @ AT | N At ST 7, @ gRemh

number is equal to - I R & —
(1) 60° (2) 65 (1) 60 (2) 65
@) 70 ® 75 (3) 70 @ 75

10. Choose the odd one out - 10. /T &1 gAY —
(1) Hydrogen (2) Iodine (1) ErsSIoE (2) IS
(3) Nitrogen (4) Oxygen (3) A (4) siiiio=T

1. Next term of the following number series is 1. 4= w=r Soft &7 SFTeT Ug aRIER § —
equal to —
2,25 13,28, 7

2,2,5,13,28,?
Ms2 (2) 49 (1) 52 (2) a9
(3) 47 . (3) a5 (3) 47 (4) 45

12. [f the first day of a non-leap year was Thursday, 12. 9 & iy o @ g foq &1 TediR o1,
then what will be the last day of that year? a0 oY @ sifqw e &1 = BT
(1) Thursday (2) Saturday (1) THaR (2) sifaR
(3) Friday (4) Wednesday (3) IEHAR (4) AR

13. 8 is related to 28, in the same way as 27 is 13. 519 UBR 8, 28 ¥ W 2, S UPR 27
related to - fras Heftrg 87
(1) 55 (2) 67 (1) 55 (2) 67
(3) 62 (4) 65 (3) 62 (4) 65

14. Next term of the following number series is 14. £ der 9 &7 3T U8 aRIER § —
equal to - .

' 10000, 11000, 9900, 10890, 9801, ?

109300, 11000, 9900, 10890, 9801, ?
(1) 8820.1 @) 107811 (1) 8820.1 (2 10781.1
(3) 10781.9 (4) 8820.9 (3) 10781.9 (4) 8820.9
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. 15- X was born on March 6, 2014. The same year  15. X g A, 2014 BT YT 3| S I TS
Independence Day was celebrated on Friday, f¢aw gmar o w9 T 9 X g R e
then X was born on - §3ﬂ?

(1 Thﬁrsday (2) Wednesday (1) TBaR () gar
(3) Friday (4) Saturday (3) IpaR @) 9ifaR
16. ‘CIRCLE" is related to ‘RICELC’ in the same 16. 99 9®R ‘CIRCLE’ &7 §== ‘RICELC’
way as ‘SQUARE is related to - &, S¥1 UBR ‘SQUARE’ &7 TwwT forasy 27
(1) UQSERA (2) RQSERA (1) UQSERA (2 RQSERA
(3) UQSARE (4) RQUCRC (3) UQSARE (4) RQUCRC
17- If only the first half of the English alphabet 17. 3fq SUSh aviaren & daa yorq srE—aofaren
series is réversed, how many letters will be Bl el IR o T 2, @) J iR R b 7Y
there between J and R? fbam aof Rerg 2
(1) 12 (2) 13 (1) 12 ‘ (2) 13
(3) 14 @7 @) 14 @7
18. Missing term of the following alphabet series is 18. o=y ot Siofy ot W U8 R T —
equal to - ,
AYD, BUG, DRJ, 7, KOP
AYD, BUG, DRJ, ? , KOP
(1 GPM (2) FPN
(1) GpM (2) FPN
(3) HQO (4) FQN
(3) HQO (4) FQN
19. Choose the odd one out - 19. 1 1 gy —
(1) MpOn (2) AdCb (1) MpOn (2) AdCb
(3) SvUt (4 VxYw (3) SvUt (4) VxYw
20- Two positions of a dice are shown below. When ~ 20- TH UN BT &1 Reiferat § v welRia fbar wa
the number 4 is at the bottom, then which T | 919 6T 4 A9 99 W 2 2 99 S
number will be at the top? &1 S gl G 8P
5 2 3 2
3 1 4 1 - 1 4 1
(1) 2 (23 (1) 2 (23
@) 5 @6 3) s @6
02' Page 5 of 32



21. Read all three statements carefully and find ~ 21- A= HoFi & FQuEIgEs ufed AR G
which of the statement is/are sufficient fo - DT & DA (@) #oF A ™ u F1
answer the given question - TR o & ford Wi 2 /8 —

I C is younger than D but older than A I C,DQW%WA@"\!B‘@E@T
and B. =1

I Dis the oldest. I D 9§91 2

Il Adis older than B. m ABISSIR

Who among A, B, C and D is the youngest? A,B,C3R D § ¥ |99 Biel 3T 27

(1) T only (2) 1 and IT only (1) I 1 @ daa [ 3R 10

(3) I and [T only (4) All L Hand I @ DI IR @ wd I 1R I

22. The total number of digits used in numbering ~ 22- 369 Y[ AT TH TEID TR TS WA fore
the pages of a book having 369 pages is equal & o) v 3 ot S sid! B G e T
to - T —

(1) 1005° (2) 999 (1) 1005 (2) 999
(3) 990 (4) 1002 (3) 990 (4) 1002

23. In a certain code language, 15789 is written as 23. yo ffRaa g w1 #, 15789 &1 EGKPT forar
EGKPT and 2436 is written as ALUR, then in ST £ 3R 2436 T ALUR fr@rm omar £ &
the same code language, 38547 will be written _ '
s WA He 9T H, 38547 BT foram SRR —
(1) UPGLK (2) UTLGK (1) UPGLK (2) UTLGK
(3) UPLGT (4) PUGLT (3) UPLGT (4) PUGLT

24. Find the total numbers from 1 to 100 which 24 1 § 100 % B el TN ST PIRT Y —
are — '

(@ 4 9 Piggr ffem 2 &R
a exactly divisible by 4 and : - .
@) i i (b) 4399 9@ P & w7 A
(b)  has atleast 4 as a digit fRerg &
M6 @7 M6 @7
()8 (4 10 3) 8 4 10

25. If the points (a, 0), (0, b) and (1, 1) are collinear, 25 A f3g (a, 0), (0, b) TAT (1, 1) T &, @

then value of §+% will be - 1+%mm¢rﬁm—
a.
(1) -2 (2 -1 M -2 (2 -1
@) 2 @1 (3 2 @1
02- © Page 6 of 32



26.

A student goes from his house to his college at
a speed of 10 km/h and back from the collegé
to his house at a speed of 15 km/h, then his
average speed is -

26.

UF faerll 3w =R @ ®to 10 A1 iy w5
@I T SR R T AGH B § R 15
A, iy =i @Y Y | e 2, o 99 R
@1 3ira Tfa gl —

(1) 12.5 km/h (1) 12.5 f&A. wfa =er
(2) 12 kmv/h () 12 f&#A. ufa ger
(3) 13 km/h (3) 13 foA. gfr der
(4) None of the above (@) ST F H pI5 TS
27. Which number is real in the following? 27. for=1 5 @ oY S aRafae 87
M2+v3 @ 2v3 M2+v3 ) 2v3
® 3 @ V23 @ 3 @ V743
28. l+L+L+L+L— 28. l+i+.L+L L_
5 45 117 221 357 5 45 117 221 357
(1) 20 (2) 80 (1) 20 (2) 80
21 z =23 21 23
@5 @ s @ s @5
23 21 23 21
29. What will be the difference of compound 29. 40,000 W 5% TF = A X Y 399 B
interest and simple interest for 3 years on TAhgf AT T ARIRYT AT &7 (AR a4
< 40,000 at the rate of 5% annual interest? TITT?
(1) T 305 (2) X 325 (13052 ) 325%
(3) %300 (4375 (3)300%T (4) 375%
30. If 50% of (x - y) = 30% of (x +y), then how  30- IR} (x —y) BT 50% = (X +y) BT 30% B, @I x
much percentage of x is y? ®1 fFa gferera y &7 .
(1) 400% (2) 25% (1) 400% (2) 25%
() 331lq (4) 40% Q) 331q (4) 40%
3 ~ 3
31. What is the probability that a non — leap year  31- T® IgRBE I | IANT Iy 99 F 53
selected at random will contain 53 Sundays? AdaR B P 7 wifienar 27
Me6,/7 @1/7 Me6,/7 @1/7
®)5/7 @2/7 ®)5/7 @2/7
02- Page 7 of 32



32. The equation of the circle drawn by assuming 32. ﬁi (1, 2) qAqT (3, 4) B e a0l Y@RIvS
‘- - - . . 2 ’1
the line segment by Joining the points (1, 2) and Y AT HETBR IR T I BT TR & —
(3, 4) as diameter is - :
M x*+y*+4x+6y—11=0 Mx2+y*+4x+6y—-11=0
(2 x*-y>+4x-6y-11=0 (2 x*-y*+4x-6y-11=0
@) x?+y’—4x-6y+11=0 @) x*+y*—4x—6y+11=0
B x>—y?—4x+6y+11=0 @) x>—y?—4x+6y+11=0

33. If the sum of length, breadth and height of a 33. Ifg v oM @1 TS, diels IR SAE &
cuboid is A cm and length of diagonal is B cm, AT A HH. o7 ol & aw=rE B QAL =
then their complete surface area will be - ar SGFT F0l U5 SAhd BN —

(1M A-B (2) A’ + B? 1M A-B (2) A2 + B2
(3) A2_B? 4 A+B (3) A2__B2 4 A+B

34. If the number of books issued on the 34. i v TWHT gRT @MIR e § oy
consecutive days from a library are 75, 80, 96, 2 arel) W & = 75. 80. 96. 92. 89
92, 89, 94, 100, 82, 63, 105, then its medi : A
) - 94, 100, 82, 63, 105 &, T A AfSawT & —
is -

35. If the mean of ‘n’ numbers of a series be % and 35. gfg n HERN & e AN &1 AR % ek
the sum of first (n - 1) numbers is A, then the U (n - 1) A1 BT AT A2, o1 i G
value of the last number is - H A & —

Mnx @ nx— 2 M nx @ ng— A&
G)ni-x @Ax+ n B nA—x @ A%+ n

36. In ogive curve, the points are plotted for - 36. sfioed Iw W fvgel & e @ o wife

(1) The values of variable and cumulative & {
frequencies (1) =R & a7 v Fa mgf
2 i ] .
(2) The values and frequencies @ ¥ vd st
(3) Frequencies and cumulative frequencies R e -
(4) None of the above e _
(4) SR # ¥ P T
02- Page 8 of 32



37. Which number is not a square of any number in

38.

39.

40.

41.

42,

the following?
(1) 7982 (2) 9604

(3) 15625 (4) 516961

If two dice are thrown at once, what is the

probability of getting sum of numbers atleast 8?

(1) 5 @4
12 9
(31 @ s

2 - 36

There were 25 teachers in a school whose mean
age was 30 years. A teacher retired at the age of
60 years and a new teacher was appointed in his
place. The mean age of teachers in the school
was reduced by one year. The age of new
teacher was -

(1) 30 years (2) 25 years
(3 35 years (4) 40 years
For a symmetrical distribution,

Mode — Median = ?
(1) Mean 21
(3) 3 (Mean + Median) (4) 0

The statement — “Statistics is both a Science and

an Art” was given by -

(1) R. A. Fisher (2) L. R. Connor

(3) Tippet (4) A. L. Bowley

What will be the sum of two positive
consecutive odd numbers, if difference of their
reciprocal is 2/255?

37.

38.

39.

40.

41.

42,

T G DI SR TR T @7 af 95 29
(1) 7982 (2) 9604
(3) 15625 (4) 516961

s 3 U U G BD Y. $9 UG @ HUR
I Trell IRT3T BT AT BH W $H § 8 &
ifar gifi —

ms (24
12 9
@1 ORES
2 ' 36
U faenes 4 25 seams o e s sy

3099 1| 603Y B qY & B YD &
HAMERT BF W T T eras @ Fryfa
Y UH I¥ B | T FATH B Y
off —

(1) 3099 (2) 25 ¢
(3) 3594 (4) 40 ¥
Uh AT deT & o,
gl — HIfeqdT = ?

(1) |7y 21

@) 3 (Frew + =fEaDT) (4) 0
iR, IS T Bl SFT B |7 98 HU

ﬁﬁﬁﬁ%ﬂ?ﬁmﬁmwaﬂ
(1) 3R, T IR (2) 9. IR, AR
() feue (4) T. va. 9ISl

I N gTHG HEANT AT GEIe &1 9RT
41 BRI, Al S5 Gopdl BT SiaR 2255 &2

(1) 28 (2) 32 (1) 28 (2) 32
(3) 31 4) 34 (3) 31 (4) 34
02- Page 9 of 32



43,

45.

46.

If ratio. of areas of two triangles is 25:16, then

ratio of their perimeter will be -

(1) 4:5 (2) 5:8

(3) 25:16 4 5:4

- The angle of depression of two consecutive

\\
milestones on the road exactly towards left and

right of an aeroplane are 45° and 30°, then

height of the aeroplane will be -

M ‘/—51_—1 mile @ % mile
(3) i 4)
V3 mile ) mile

In case of frequency distribution with classes of
unequal widths, the heights of bars of histogram
are proportional to -

(1) Frequencies in percentage

(2) Class intervals

(3) Class frequency

(4) Frequency densities

If coscc (A + B) = 1 and sec (A - B) ==,
thenlE:

(M 30° (2).45°

() 60° (4) 90°

43,

45.

Ify < B[Sl & SF%aAl B AU 25:16 B,
a1 S9& uRfAfaal &1 U B —

(1) 4:5 (2 5:8

(3) 25:16 4 5:4

U &A% STl @ AP ¢ IR 9N USF B
T AR I & YR BT a7 HIVT BHHI:
45° A1 30° @B, A 'AE EW B SaAR
gt —

1) 1 2) 1
()ﬁ__lﬁn—a ()ﬁiﬂa
(3) /3 Arer @ _L g
V3+1
I <RI ® AGRT §e9 & g o —

o w90 §9g st @ Saal # e @
U H T S ¥ —

(1) gt &1 ufier

(2) P& IR

(3) &1 gy

(4) sgRy w9

A cosec (A +B) =1 3N sec (A-B) =22,

@B

(1) 30° (2) 45°

(3) 60° @ 90°

02-
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Directions - The details of expenditure of
monthly income of a family is given in the Pie
chart. From this graphical data, answer question
number 47 and 48 -

Education

120° "‘ 4° Clothes
KN 60°

Food

R — 99 (Pie) =1 ¥ vo URaR % ARIS
A B @ BT fdexor Ry 7y ¥ | 39 ey

Feosl § UH AT 47 G 48 FT SN
ey —

47. If expenditure on clothes is T 2000, thep how 47. Iy BIS T @I 2000 7 T AN T G
much is the expenditure on item ‘others’? a1 frgar
(1) ¥ 3,000 (2) 3,800 (1) 3,0002 (2) 3,8002
(3) 22,500 4 %3,500 (3) 2,5002 (4) 3,5002

48. How much will be total savings of a year? 48. 1 a¥ @1 g7 v9q o enfi?
(1) 2,000 (2) T 4,000 (1) 2,000 (2) 4,000%
(3) T24,000 (4) % 16,000 (3) 24,000 7 (4) 16,000

49. Which one of the following is not an element 49. famfoRad o | T GoricHd $1 ded A
of creativity? 27 '
(1) Originality (2) Flexibility (1) HfSTPar (2) afe=
(3) Fluency (4) Structured (3) yaifan (3) wFra

50. Who used the term “learning disability” for the 50 3 5= W AR TR & ARFH AT g
first time for the children who suffered from TR W8d €, 96 B3U IR seidar v
various learning problems? BT TN GagH e fhar?
(1) Birch (2) Van Riper (1) a5 ) 99 AR
(3) Samuel Kirk (4) Heward (3) -‘ﬁ-ﬂw w (4) %Eﬂé

02- Page 11 of 32
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91. Which of the following is not the correct  51- famfaRad § & wwT fddra o1 T Rigid
principle of development? T2l 87
(1) Development is the product of maturation (1) fara uRudgdr dor Yiae & U © |
- endicamng (2) Rererredep tes sl B £ |
(2) Development patterns are unpredictable. .
. (3) faore 3 uRad= 2rar 2|
(3) Development involves changes.
(4) Early development is more critical than later @5 {Il Tl TRl fawr 9 3
development. WT’T BT T
52. Which of the following is the correct logical ~ 52- fy=foRad & A @I FomrTHSGT @ UHaT
order for process of creativity? & foru @) aifes Ha 27
(1) Dlumination— Preparation— Incubation— (1) g&o— TR~ T T -
Verification
(2) Preparation— Ilumination— Incubation—> (2) i TATH— TR T
Verification
@ p i i inati
reparation— Incubation— lumination— 3) STR— s T T
Verification
(4) Preparation—Illumination— Verification—
@) FIRI— JETT— G T
Incubation
58. Which of the following is correct logical order 33. frfeiRad # 9§ DI &RaC UAUEg gomel)
of Herbartian five steps of lesson planning? D HTRY UG AiorT & HI9HT BT GeT difdd
5
(1) Preparation =~ —  Comparison ~ — P & e
Generalization —  Presentation — MTFEE > go > IEeRT —
Application . i
- 44  IEIAIDROT =5 YT
2) Preparation ~ —  Presentation = —
(2) Iy T THRT RIGIRICEY
Generalization = —  Comparison — e i AR
Application gl l — Sﬂ'DRfFT
(3) Preparation — Presentation — Comparison @ - wghewr - g o
— Generalization — Application HFATNHLT anghw :
(4) Presentation =~ —  Preparation = — (@) TeqIaRTT — A - AERERT
Generalization = —  Comparison  —
Application ' g —> STIHIRT
02-



54. In which year, the proposal to create “Rajasthan ~ 54. “Jroieers TgBTH sRTRE (IRELE) —
Education Initiative (REI) — A Public Private U6 WHR ol ariied sriET 90 o
Partnership Programme” was accepted? e fhg 9§ ¥ WeR f&ar @y o
(1) 2002 (2) 1998 (1) 2002 (2) 1998
(3) 2005 (4) 1992 (3) 2005 4) 1992

55. Which one of the following is the oldest method 55. mfefRaa & ﬁ S R J9ifdsm &)
of Educational Psychology? urRNae fafey 82 '

(1) Introspection Method (1) a=aesig Ay

(2) Comparative Method (2) gorrTs fafy

(3) Developmental Method ©) Rera=s AR
(4) Case - History Method ) S sfierg AR

56. An English teacher taught students that plural 56- e U & rumed o I fEnhiEt @y
of cat is cats, plural of house is houses, plural of Rrarr f& o @1 EREER a*»aa TS @I
pen is pens. In this manner student did a mistake gIaT TSEY, UF o 9ga9 U= Bl 2|
while making plural of mouse as mouses. SH B9 A femlt ¥ ag @ EECERII ]
Which type of transfer of learning occurred in q woNd 9 A g9 Ry § frw yeR
this situation? BT AT WIFRR Ofed gan?

(1) Positive transfer (1) eI RITIIROT
(2) Zero transfer (2) I IR

(3) Vertical transfer (3) sigaq RITRY
(4) Negative transfer (4) TS IR

57. Which one of the following is a new  57- JTf1g RyEr 9y 2020 & Ted 3 & 18 9§ B
pedagogical and curricular restructuring NEP Dl & o f=fafed & ¥ e T
2020 for 3-18 age group children? el 3R wreEeal gfen fbar T £2
(1) 3+3+4+5 (@) 3+45+3+4 (1) 3+3+4+5 (2) 3+5+3+4
(3) 5+3+4+3 (4) 5+3+3+4 (3) 5434443 ' (4) 5434344

58. Which of the following is not the component of ~ 58- Frefofed § & S SR &1 Fues 8
motivation? 2?

(1) Incentive (2) Need 1) mal:ng:[ (2) RICEN G
(3) Inference (4) Drive (3) 1AM (4) sgeiTe
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59 “Sociocultural  theory”  of  cognitive 99 WEMIIG fEW @ AMRG  GikGw
development was proposed by - figia” &1 fea ywarfaa fear er?
(1) Kohlberg (2) Lev Vygotsky (1) PIEgaaT (2) Jg IgTcHST
(3) J. S. Bruner (4) Jean Piaget (3) o1 TH. TR (4) SN forarey

60. Which of the following is an example of Innate ~ 60- fF=fiRad # & FFET o ARG BT
Motive? JET 27
(1) Hunger (2) Incentive (1) &= (2) UrTE
(3) Award (4) Punishment (3) DR (4) Tvg

61. Which of the following is not the substage of 61 ffaiad § ¥ @9 o9 s wr
“Sensorimotor Stage” propounded by Jean gfauifed Hsmicae e fugia” @ “§adT
Piaget under his “Cognitive Development ofier araeer” @) SusrgeRn T8 27
Theory”?
(1) Stage of reflexive activities (1) wfdiarcit febareil @1 srawen
(2) Stage of Primary Circular Reactions (2) grrfiies =gerg gfafhamell @1 srawen
'(3) Stage of Secondary Circular Reactions (3) fg<irae =eora ufafhamil & smawern
(4) Intuitive stage (4) 3raeslt srawern

62. Which one of the following is not the 62. frafoiRaa & & BH9T e AMRYe w@Rem
characteristic of good mental health? BT &0 T 27
(1) Hyperactiveness  (2) Emotional maturity (1) srfeafaar (2) 97w gRugaar
(3) Ability to adjust  (4) Self confidence (3) FHRISTT At (A) ancafavarg

63. In which year National Institute of Open 63. sy g fEmeRh  Rem e
Schooling (NIOS) was established? (TT.MEINTH) BT AT HIe a9 ¥ g8 oi?

1 2
(1) 1989 2) 1984 S A
3 4

(3) 1985 @) 1956 (3) 1985 (4) 1956

64. Which of the following is not a type of 64 fr=ifaifgd ¥ ¥ BT BIR X RS (8]
personality given by Kretschmer? Ffdkicd BT TP YHRN Tl 27
(1) Pyknic (2) Asthenic M) e (2) veif®
(3) Athletic (4) Endomorphy 3) waifes (4) TuS Tt
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65. Which of the following is higher order 5. <[ B e el B geifewer § e
component under cognitive domain in Bloom’s et ) 8 5
Taxonomy of educational objective - i Srd &

(1) Analysis (2) Evaluation (1) faweryor (2) qearep
(3) Understanding (4) Knowledge (3) 3rgqrr (4) 513

66. Which of the following is the false 66. foe=ifoiad & & #iar s=i @ Wy oM
characteristic of concept development of the DI Y 9wy 27
children? h ]

, (1) Hyew J9fdms B &
(1) Concepts are individualized _ '
(2) vy Sfee 9 wRa # AR el 2
(2) Concept develops from complex to simple &
(3) Concepts are hierarchical (3) Hea Softeg TargsHa 4 B &
(4) Concept development follows a pattern (4) g e &7 T tef B &

87- Which one of the following is the correct 7. FreifaiRad ¥ & i Reror T IEIeT S
maxim of teaching based on Gestalt 5 5
Psychology? i W ¥ &

(1) From whole to part (1) gof 9 3fer & 3R
(2) From induction to deduction (2) T | A @) e
(3) From concrete to abstract (3) qd I oFfcd B 3R
(4) From particular to general @) fafdre & Im=T 95 oR

68. What is the name of the programme introduced 68 ST R fmr grr IRTs F=mr safy
by Rajasthan Education Department to H g2l DI TR W U P A gfder gem o=
facilitate students to learn from home during the gg URA [6Y T BRIHT &7 979 T 22
pandemic period?

(1) Diksha Programme (2) Saheli Programme (1) a7 HRIEH (2) T2 s
(3) Smile Programme (4) Imlee Programme ) TS BriHT (4) $veh PriET

69. The function of administration which is related 69. yo T @1 98 B W IRe BHA
to maintaining and improving the educational SR T QIR ¥ G & —
programmes is - :

(1) Supervision (2) Leading (1) o (2) ST
(3) Inspection (4) Guidance (3) e (4) e
02-
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70. Which of the following technology involves  70-
planning, organisation, leading and controlling Frefafad ¥ ¥ fpd aeae @ iy ¥2
processes? |
(1) Instructional Technology (1) e aHHID]
(2) Behavioural Technology - (2) FIER ADhTeh]
(3) Machine Technology (3) w9 a-itant
(4) Teaching Technology (@) Ry gHaE
71. Educating children with special educational  71- fafdre dfdre mawadar 9 TTa®! I AHRT
needs in regular classroom set up for full time, T H R 999 & forq R < arell sgaven
is known as - Heddl & —
(1) Integrated education (1) Sfpa e
(2) Special education . 2) Rt e
(3) Inclusive education (3) TEr e
(4) General education (8) T
72. Which of the following is direct method of 72. fq=fafed # 4 BFET TR & G
adjustment? WIHT 8°
(1) Repression - (1) T
(2) Substituting other aims (2) 319 et BT gfaeg
(3) Regression (3) yfFT =
(4) Rationalization (@) Tfrra<or
73. Which of the following is not the major 73 fy=ifeiRad # & PIv«T NoRA™ & FHT Rreq
objective of “Samagra Shiksha Abhiyan” in ST BT 4 e T8l 5°
Rajasthan?
(1) dig R @1 ggrar <
(1) Promoting adult education , | ,
(2) faenerm Rrem 4 amfore @R <@ iR
(2) Bridging social and gender gaps in school
BT FF HAT
education |
(3) STt Riem &1 qerar o
(3) Promoting vocationalisation of education
, . om it (4) faemerll Ren & T WRI R |9l 3R
(4) Ensuring equity and inclusion at all levels of
school education 2] g
02-
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74. Who developed the Concept Mapping
Technique?
(1) Martin (2) Mintzes

(3) Joseph D. Novak  (4) Callahan & Clark

75. Which of the following is not the nature of

management?

(1) Management is universal process for

execution through human resource
(2) Management is Physical Science
(3) Management is an art
(4) Management is social responsibility

76. What is the designation of Headmaster of
school in School Management Committee
(SMC)?

(1) Finance Secretary

. (2) Ex-officio member secretory
(3) Deputy Chairman
(4) Chairman

77. Which one of the following is not directly
related to areas of school organisation?

(1) Co-curricular activities
(2) Time table
(3) Population education

(4) Institutional planning

78. Who was the propounder of Multiple
Intelligence Theory?
(1) Robert Sternberg ~ (2) Howard Gardner

(3) R. B. Cattell (4) Philip Vernon

74. SHeuAT AFRE dede @ Aew  fEe.
fpar?

() =f&H (2) froes

@) I% . 9% (4) B Ud FATD

75. frefRed § & S e @ PRy T ¥

() yegd 999 SORF gN fhamaE @
e ufthar &
(2) ygerq Wifge (s B
(3) yEuE U el © -
(4) g AT ST @
76. el & AeT—WuTH &1 faeney wded |fafd
(ca.THEY) § T UG Bl 87
(1) fo afra
(2) g2 9o |fTa
(3) IuTege
(4) areger
77. Rrefafag 3 § B Reed §Ted & a3l
A g ey 8] Xl 87
(1) yreg | fhamd
(2) g1 gl
(3) Srrvet R
(4) TrTa fRaeE
78-&@—3%'%@?{%%%2}?

(1) e et
(3) 3R, 1. B

(2) gfgS TER
(4) fsfera o=t

02-
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79.

What should be the number of teachers upto 60 9. g1} 1 Frged aiv sifvard R o SICAN
children admitted in first class to fifth class, as A, 2000 @ T8, goT Feqr i) Der
per the Right of Children to Free and TP 60 g0 TF B Y9 4R TR PY T
Compulsory Education Act, 20097 FT 35N IfRe?

(1) Two (2) Four O ) IR

80. Which percentage of vacancy of teachers 8. D! BT Y 3R AR R 7 afier
should not be exceeded of the total sanctioned AT, 2000 & T, Tl WHd G B
strength, as per the Right of Children 1o Free fraq qﬁgﬁ ¥ ;qﬁm; IHT ) Rt 21
and Compulsory Education Act, 2009? =) RT?

(1) 8% (2) 10% (1) 8% 2 10%
e Site 3) 5% @) 15%

81. What is the minimum number of instructional ~ 81. g} Py 3o oiR afrart R o7 sfieR

hours in an academic ‘year for sixth class to AT, 2000 3 T=d, B Pery q 34} Pexr
_ eight class, as per the Right of Children to Free o ol o dufs ¥ R RRor gue

and Compulsory Education Act, 2009? T

820 (@) 1000 . (1) ams < 4 (2) T &R

2750 (4800 (3) 7 6 = (4) a5 &)

82. Where a child above six years of age has not  82. gy} T e 3R afart fen o7 sfeR
been admitted in any school, then in which class A, 2000 & =, U 6 a5 ¥ e 9y
the child shall be admitted as per the Right of & 916 A 5 ff et § 9l & =T
Children to Free and Compulsory Education g W 9o @1 fayg @ 4 TG far
Act, 20097 ST |
1 . ’ _

(1) Appropriate to his/her level of knowledge (1) 398 9 & wR 3 STHY
(2) Appropriate to his/her or%ll interview @ s AR o5
(3) Appropriate to his/her age
Lt = (3) 3H%! o1y & ey
(4) Appropriate to his/her screening
(4) SH SFRETT B IRy
02- Page 18 of 32



83. Who is responsible to reconcile the figures of 83 3[U BT b Iroed T R B 3Dl BT AT,
revenue and expenditure of their office with TR, 3 gol I S TR PN/ SUB
concerned treasury/sub treasury figures # fdm &% 2g P IaReT 27
recorded in IFMS? |

(1) prarerarEge
(1) Head of office
2) ferg=ur QIfreRI
(2) Controlling officer @
(3) Accountant General (3) 7i&T ehETP
(4) Head of the Department (4) foummene

84. ‘Which is not a penalty within the meaning of 84 oM AFIRS Iqq (@fioRw, FE=or 9
Rajasthan  Civil Services (Classification, i) W, 1958 & dgd, g:p‘-[ GG s
Control and Appeal) Rules, 1958? TUSICY T8l 27
(1) Recovery from pay of the whole or part of OEREE:| T’T 7 1RSIl |

pay.
(2) Compulsory retirement on proportionate (2) srguTfer e oR ifrard i

pension. : _

' k) | @) dar ¥ e (e #§ gl @ o
(3) Removal from service (shall not be a dis- '

i VAT & B) |
qualification for future employment).
(4) Rt o9er T T8 T W A T

(4) Withholding of increments for failure to .

pass a department examination. e d l

85. In which schedule the members of the 85 Yo AMRE Al (Ffiexor, Fa=er g
subordinate services are included, in Rajasthan ardier) fAam, 1958 ¥, SrefieRey Haril & 95
Civil Services (Classification, Control & o e I onfae 27
Appeal) Rules, 19582 ‘

() T @ v () feira (2) =rged
(3) I @1 (3) T (4) gor

86. The amount of pension shall be calculated at ~ 86. GReTferal $ T 9w ) U R B
fifty percent. of the emoluments, after a ot @ fow fhas 99 @ AFarcHd dar o
qualifying service of how many years? AgIIHdr erfi?

(1) 39 years (2) 15 years (1) 39 79 (2) 15 99
(3) 30 years (4) 28 years @) 30 9§ (4) 28 T
- 02- Page 19 of 32



87.

System for making any online

payments/remittances by payee to the

government under IFMS is called *

(1) e-FPB (2 e-CIN

(3) e~ GRAS (4) e - GRN

87. aFEdl §RT MENH TR, & sty DS

T SATTATS A / F90T v el EIEIO))
B BT ST 2
Mg - wmhd,  @F - G

@) g — Hamuwa @) § - SIL3TR.US.

88. Who is competent to accept resignation from 8. RSB Ja1 ¥ YU R T gq B
Government Service? ' [EH &7
(1) Controlling Authority (1) fg=or Tty
(2) Appointing Authority 2 ﬁgﬁm B EAR]

(3) Administrative Authority @) g e NRES
(4) Regional Authority DY g —

89. What is the minimum working/teaching hours ~ 89. gr®} @7 3o ok aifard R @1 aftrer
per week including preparation for teacher as A, 2000 & T=d, REw @ o s
per the Right of Children to Free and e § IATH AL /AT & gue i
Compulsory Education Act, 20097 JI B "t |ikg @ 7
Sy S (1) trarehe (2) =i
e 2l () garel™y (4) g

90 According to the Right of Children to Free and 90. g1t T (igem ik iyt R 31 s
Compulsory Education Act, 2009, which IR | 2000 3 T8d, 39 ¥ &9 9T $o
statement is not correct? GEGRE
(1) A child shall be admitted in extended period ) v 7= B feaRa w5 & f W R

iz SRR |
2 i i , .
(2 A child shall have right to free and @ v F5) B s T4 o R @
compulsory education. AP |
(3) A child shall have right to seek transfer to ) T T B o 2 98 frell oy
any other school. ;
hel H RIMRY R |
4 A child shall be denied admission in a ]
() ST & T B TH W v 9 31 e
school for lack of age proof. i :
H U9 S | A R wRe
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91. Receipt of money received in the office shallbe 91+ T YFamdal ® SR H g [y o
issued to a payee in form no. ...........cccceue.. RS AR L A C2 L A # § S|
: (_1) GA 55/56 (2) GA 20721 (1) SN T 55 /56 (2) St T 20 /21
(3) GA 53/54 (4) GA 40/41 (3) < T 53 /54 (@) S T 40 /41
92. What is the maximum period of leave of any 92 fohfi #f TR T s Feawan # SfrwaH
kind which may be sanctioned for continuous Rt ) @ o WIBR BT o Saar 27
period? '
(1) 4 years (2) 1 year (M4 af 21 a¥
(3) 5 years (4) 2 years (3) 5 a9 4) 2 a9
93. In which classes there shall be a regular 93 il BT e iR ARl R &1 AfIBR
examination at the end of every academic year Jfdfras, 2009 (HeEE 2019) @ dgd, AP
as per the Right of Children to Free and St o 91 Suiy | 59 sapi 3
Compulsory Education Act, 2009 (Amendment i oo o SR
2019)? '
1) gt va 2y i Tl
(1) 5% and 81 (2) 2 and 7" RIRE T E e R )
(3) 7t and 8™ (4) 1% and 6™ (3) |4l U9 3Mred (4) ugehl ©§ Bl
94. A teacher appointed or in position as on 31% 94 Fred! BT FYed MR AR R b1 ARBR
March, 2015 does not possess minimum S -
qualification, shall acquire such minimum 200 2017) % IR, TP
qualification within a period of ................. as TS I 31 AT, 2015 BT FgE AT FTIRA
per the Right of Children for Free and , BT
EQkil TG &, 1 G arar
Compulsory Education Act, 2009 (Amendment 8 , i RS
200y == oS0 T Ll s R & aAg # afofa e |
(1) Five years (2) Two years ) g a8 @) @ a§
(3) Four years (4) Three years @) 7R a8 @ & 8
95. A female Government Servant desires a change 95. fqarg /yAfdare & HRU TH afgell RPN
in surname on account of marriage/remarriage, ) F aR f- A vl
she should give ................ to the appointing A ‘%' I
authority. - ARABRY BT M —
(1) a formal intimation with particulars of her (1) Ry @ RraReT B TRI T SRS G
husband ‘
(2) a deed with particulars of her husband (2 fty & faavor & HRT T SHRATH
(3) an affidavit with particulars of her husband 3) oy & faa=vT & ARI U waeud
(4 a éopy of a notice published in newspaper (4) srEe ¥ UHIRE Afew & e i
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%. A child belonging to Scheduled Caste, 9. qret &1 Mg iR Sifart Ren o1 sfieR
Sckeduled  Tribe, disabled, socially and AR 2009 #, O 9Tl Wi S S,
educationally backward class or such other 34:]:\11%'3 e, e, wmEifre g Ifers
group are defined in the Right of Children to el o iR U &) 3y TE 9 gt §

. Frez and Compulsory Education Act, 2009 as - oRaRg 2 —
(1) Special Backward Class (1) Rfre fwer a1 3§
(2) Below Poverty Line (BPL) (2) T YT A (@)
(3) Economically Backward Class (3) e Rwer it &
) D; e .
(4) Disadvantaged group (@) 37 E ¥ (dfr E )

97. What shall be the percentage of women 97. qretpt Eﬁrﬁ:?l?cﬁ 3R sifyard frem &1 afrer
members in School Management Committee 3fefE, 2009 & arfa, femer gey G
(SMC) as per the Right, of Children to Free and (qu‘\nﬂ) ¥ gfeer et &) AT BT ufererg
Compulsory Education, 2009? T BT :

(1) 45 (2 50 (1) 45 (2 50
(3) 20 (4) 28 (3) 30 (4) 28

98. Who is competent to decide not to hold back a 98. qrerl o1 g 3R it R 31 oRieR
child in any class 4ill completion of elementary AR o
education accordirg to the Right of Children to ) 2085 2019) % 18 Fo e
Free and Compulsory Education Act, 2009 9% Bl TrRIeE R 7ol B d% fadl o e

2019)? ! :
e et et 200 N U1 A S a1 o O B @B wem 27
(1) National Advisory Council
() =g FemesR uRye
(2) State Commission on Protecsion of Child : .
Rights (2) 916t PR wReTor W AT
(3) Appropriate Government ) T wRHr
(4) State Advisory Council ISy weeBR IRy

99. Which one of the following shall develop and 98- qreiapi oy :91e® ik et R 31 sifyer
enforce standards for training of teachers SfRIfRE, 2009 & IR, fr=faRad § @ s
according to the Right of Children to Free and D! S ARE F forg AeTHt BT RwRi
Compulsory Education Act, 20092 3R AT BT
M National Advisory Council L \

(2) Local Government (2) vt e

(3) State Government @) v TR

(4) Central Government () P TR
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100.

101.

102.

103.

From which date, all appointments in Rajasthan

shall be made as “Probationer Trainee”?

(1) On or after 20.01.2004
(2) On or after 01.01.2006
(3) On or after 01.01.2004

(4) On or after 20.01.2006

Non-government money received by a
government servant in his official capacity shall
be deposited in ........coeveeeeieiriiciiniinnens

(1) Savings Bank Account in the bank
(2) Personal Deposit Account in the Treasury
(3) Fixed Deposit Account in the bank

(4) Savings Account in the Post Office

A member of the “State Service’, against whom
order imposing any of the penalties under Rule
14 of Rajasthan Civil Service (Classification,
Control and Appeal) Rules, 1958 is made by
authority other than government, may appeal
against such order to the -

(1) Government

(2) Head of the Department

(3) Chief Secretary

(4) Administrative Department

What is the rank of India in the Global Gender
Gap Report 20217

100.

101.

102.

103.

o H fhe feie @ el fgfet
“gRAemT uREemRl’ & w9 § @ TR
(1) 20.01.2004 BT IT TP qIS

(2) 01.01.2006 BT AT $HD d1Q

(3) 01.01.2004 BT AT 3D d1S

(4) 20.01.2006 BT TT TP q1S

WHN HUAN] gRT 9 eREd 9 urg iR
RECAC{IIE # ST AR
STRATT |

(1) o ¥ 39 o @R

(2) HIY | FfdTg T8 T
(3) ¥ ¥ W&y T @
(4) U< SiifPT & 999 @™

MRS A (@ fieRor, fa=er g edie) frm,
1958 & f4TH 14 & T8d, TWHR D AEl I
TRISTY ¥ VSR o {6 &, I9 Uy
% fIvg adiad &R qHT —

(1) TRPR |

(2) forTeer |

@) = afa &

(@) vemafie faamr |

TS Wex U RUE 2021 # 9YRA &1 HI9T
I 27

(1) 140" (2) 141% (1) 1404t (2) 1414f
(@) 142" ) 136" (3) 1424 (4) 1364
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104. On which date the ‘Chief Minister Chiranjeevi
Health Insurance Scheme’ was launched in
Rajasthan?

(1) 01 May, 2021 (2) 01 April, 2021

(3) 01 June, 2021 (4) 01 July, 2021

105. Recently, which drug used in the treatment of
Corona has been manufactured by DRDO?

(1) 2-PT (2) 3-FJ

() 3-DD (4) 2-DG

106. Which is the first rabies free state in India?

(1) Nagaland (2) Punjab

(3) Goa (4) Rajasthan

107. What is the motto of Diet Revolution?
{1) Good Diet — Good Cognition
(2) Good Diet — Good Behaviour
(3) Good Yoga -~ Good Banquet

(4) Proper Diet — Proper Behaviour

108. Who has been appointed as the Chief Election

Commissioner of India in April 2021?

(1) Satish Joseph (2) Sunil Arora

(3) Rajeev Gupta (4) Sushil Chandra

109. Which Indian female cricketer has created a
record by playing in al! three formats of cricket

at the youngest age?
(1) Poonam Yadav (2) Mithali Raj

(3) Shafali Verma (4) Smriti Mandhana

104. oo & oAl RGNS w@rew €
AT BT AR fbwt i a7 Ry wram?

(1 01 58, 2021
(3) 01 S, 2021

(2) 01 31da, 2021

(4) 01 SIS, 2021

105. 817 & & ORI & SR #§ YO 99 SR
arell fow iy @1 FEfor SeamSat grr
e Ty 27

_ (1) -3,
(3) 3—313.

(2) 3-um i,
(4) 2315,
106. 9~e 1 gBelr ¥ e 50 By 7

(1) Armeive (2) g9

(3) Ty (4) IToT*

107. J1eR Sifd &1 anast amwr @y &2
(1) 3T SMER — ST Srpfdy
(2) T AMER — ITH AR
(3) S ANT — S e
(4) Sferq aMER — SRIg FaER

108 aet 2021 ¥ &= v 7 Jea g airgea
IR T 27?

(1) weirer S (@) g s

(3) ¥rsfig T (@) geer ==
109-%%%%%9@@%1#

fbdbe & THT Bhfe § Yaaw Retd gary 22

(1) g9 Ire (2) ey <77

(3) Srwredr T (@) e gy

02-
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110.

111.

112

113.

114,

115.

First Indian woman fencer to qualify for

Olympics is -

(1) Arti Singh (2) Bhanwari Devi

(3) Nisha Devi (4) Bhavani Devi

In the 60" Inter-State Senior Athletics
Championship, which female player from
Rajasthan has secured first place in the 10,000
meter race?

(1) Shweta Kadiwal  (2) Pooja Harijan

(3) Saroj Dayma (4) Mahima Kaur

Which new operating system has been recently
launched by Microsoft for computer?
(1) Windows 11 (2) Windows 9

(3) Windows 10 (4) Windows 12

Who has won the Miss Universe title of the year

20207
(1) Janick Maceta (2) Andrea Meza

(3) Adline Castelino  (4) Julia Gama

What is the rank of India in the World Press

Freedom Index 2021?
(1) 142 (2) 141%

(3) 140%™ (4) 143

Which woman player from Rajasthan has won
the gold medal in the “AIBA Youth Men’s and
Women’s World Boxing Championship 2021”?

(1) Mamta Vishnoi

(2) Kalpana Jakhar

(3) Teji Gurjar

(4) Arundhati Choudhary

110.

111.

112.

113.

114.

115,

il & g FaINHE HRA el gl

AR Aieell ToaRer &7
(1) R Ryg (2) der
(3) f=m 21 (4) wary <4

6041 AT Jf=IR veraifeey =3y
H, 10,000 Hiex <S¢ H o &) e afzar

Raarst =1 vem = e fhar?

(1) w97 P (2) o 2R

(3) TR AT (@) Afem IR
HZHIHGS 7 BT B # FAIeX ¥ BIAr 7
dfawfeT Rken dr=a frar 27

(1) fa=sit 11 (2) fa=sieT 9

@) =151 10 4) faerg 12

ay 2020 &1 B gf~ad &1 Raare fooum Siar
¥ '

(1) S Adar (2) Wi Ao
(3) oo SRRM (@) Sferar s

faeq N7 adAT SIRAeT 2021 § WRA BT
HIFET R &7

(1) 14241 (2) 1414t

(3) 140dt (4) 1434t

ST @l fbd Af2e Raarel 7 “uansfAu
T 1939 AR T4 g9 Japarell ARmERe”
2021 § ol gg& Siar?

(1) e A

(2) BT VTS

(3) rh TR

(4) srafa ARt
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116.

117.

118.

119.

120.

In inaugural ceremony of Tokyo Paralympics
2020, which Indian player led the team as flag
bearer?

(1) Mirabai Chanu (2) Vinesh Phogat

(3) Neeraj Chopra (4) Tek Chand

Which Indian Athlete has been nominated as an
Ambassador for International Olympic
Committee’s “Believe in Sports” campaign?

(1) P. V. Sindhu (2) Saina Nehwal

(3) Yogeshwar Dutt  (4) Abhinav Bindra

Which film has won the “BAFTA Award” for
the year 2021?

(1) Die Another Day  (2) White Tiger

(3) Another Round (4) Nomadland

Which Russian vaccine has been approved by

India for the prevention of corona in April
2021?

(1) Sputnik Z (2) Sputnik V

(3) Sputnik O (4) Sputnik P

Who has won the “15® Sheikh Zayed Book
Award 20217

116.

117.

118.

119.

(3 T s

120.

<1t ATl 2020 B SEETE FARTE § e
HRA RIS 3 eaof a8 @ w9 § g Bl
9 f&ar

(1) AREE A (2) =91 whTe

(3) et ey (4) 3 dg

W AFRE & v fbg R vufie o

IS & WU H AR fhar Ty 87
() 4. 4. Ry (2) 15T ~Eaa
(3) IFYER < (4) 31f1g fdgT

a¥ 2021 BT 919 REBR” 69 f5eq 31 e
87

(1) S e © (2 =Ee TR
(3) 3rER ISvE (8) Fiirecive
ARG A 69 T AP B BRET B IPAW

@ oY aiet 2021 # argEifea forar &2
() afis e (2) vyt 4
(4) wafe

1541 A TS YD R 2021”7 e
SIT?

(1) Dr. Tahera Qutbuddin (1) S1. <TexT FHggEA
(2) Dr. Vandan Sarag (2) Sf. g7 W
(3) Sabina Bano (3) 9T 9
(4) Anita Bhartiya (4) 1fyar yRdT
121- What is the rank of Mukesh Ambani in the  121- Bredf 2021 @ ¥ & IR o) feay G|
Forbes 2021 list of the world’s richest people? T H B G BT HIFET R 27
(1) 10t @ 11 (1) 1oat (2) 114t
(3) 14t (4) 13 (3) 143t (4) 13t
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122.

123.

124.

125.

126.

Who has been the winner of men’s singles at the

Italian Open 2021 Tennis Championship?

(1) Rajeev Ram (2) Novak Djokovic

(3) Rafael Nadal (4) Mate Pavic

The name of mission launched by Government
of India for safe evacuation of citizens of India

from Afghanistan is ‘Operation’.................

(1) Meghdoot (2) Vijay Shakti

(3) Divya Shakti (4) Devi Shakti

“Varuna-2021” Joint Naval bilateral exercise
was -held between which of the following
countries?

(1) India and France
(2) India and Sri Lanka
(3) India and Indonesia

(4) India and Bangladesh

On how many seats in Rajasthan Assembly,

By-Election have been held in 2021?

M2 )3

)1 (4) 4

International Yoga Day has been celebrated all
over the world on 21% June 2021, which Annual
International Yoga Day was it?

122.

123.

124,

125.

126.

gform o 2021 T ARRERT # gy

Uhd bl faoiar s & 287
(1) Ifg W (2) Fiare Spfaa
(3) BT TSI (4) 3 gfde

FHMTET § #RAE TRST F G
AU AN ?g IR PR gRT A@ BT MY

() Faga

(3) faeg wifdky {4) <4 wfea

“gRU—2021" GIF A A fgUea JEras
FrefaRag # 9 o= <uf & di= smafora fear
ar?

(1) 9T 3R Wi

(2) 9RT 3MR sficiar

(3) WRT 3R S IRT

(4) 9RT 3R IFARY

2021 ¥ o U o fha WEl W)
DAENERSRT
M2 (23
3 1 @ 4

21 S, 2021 &1 wqUl faeq H SRS arT
anr feaw o

02- ®

(1) 5® (2) 10" (1) sqf (2) 10dt
5 75 e @ 7di (@ gai
Page 27 of 32



127.

128.

129.

130.

131.

132.

T ¥ 9 fAder & @ 27

(1) oS <w 957 AT ¥ wg o o1 (@)
o | :

@ SHTFFIT M, g I (@)
fBusr ST It G omm |

ATHRYT D1 GfRE | DT AT Tl 27

(1) ‘oard, s@1S IR wode, SR (2)
fepamell # &ar 2|

@) arE’ Had APHG harel ¥ BT (3)
. '

HT BT gE A Hier port w81 &2

(1) I SR B WER WEE I (2)
g1

@) YR I W Sq/ST ST | (@)

R

W9 G o), T9 89 AN g |

DI fhamail & grar 2|

ol SRoRiE fhart Tede B ¥ |

'W'Wﬁﬂﬁ—ﬁi@?%ﬁm
q + I |

TEl + SR @1 W 99T —
TR |

T W 08 e # o/ aaor wae argfy wd 80

() wEISRAIUE e amm = . @)
@ el @1 AR R g 2 @
e fdwen # wvoe <) wRwfte T & &2
(M Counsel = uRyg - &)
@) Delimitation = aR¥H= )
T BT GRS /R fesT T 37

M =g+ 3R = 7l @
@)  TEEfd = g85q + ufy )

|l ¥ @) Iafy B v Bed ¥
HY BT Y9 BIE T ¥

Deportation = faf=

Eradication = I7c1

omg = = + 9@
SuR + SUR = IwgulR

- 02-@
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133.

134.

135.

136.

137.

138.

S & pw et § ST/ vewa BT v T g &2

) R @ Y3
@) e et @)  FETeE

four faebey 4 waaer ) RS 7res et 87

() Presumption = SwuRom/qd een (@) Proximity = fwedr /A

3  Domicile = fHarY / smarit (4)  Implementation = HRII / GRUTE™

PRI DI e | I AT T T o7

(1) e o1 fadm O B — e () wdem — HaeT U g & 6o 3ef § —
H TRE § — AT |

@ I P AW ¥ B — e’ @) Tod iR SUNT U Al B AR B
G P GE | DI FH TAd 27 \

) weﬁﬂmsﬁvmﬁmﬁwﬁ @  faewor iR frafaRm afRer) us 31
@ SRed IRl sisE AT @ U P ygE v F QA W AW W E

PG 3R AHHF |
g g # qege AN ol o7
) @ ForE
@ =mafr @ T
Wﬁg&%ﬁﬁﬁ&iﬁﬂ‘é’rﬂﬁ%‘?

(M fRAdMF o= W E oqama, @ @ 3 g q @ $ 99 98 99 W
FHared 3R HEar | : %,wmwm,ﬁmmaﬁvﬁwml
@)  ar ok 5T e I B dEwEme @) fba B Sy &R ol @ fadu FEd

Ueh 2 | g1
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139.

Which one of the following sentence is correct?

(1) Suresh is taller than I am. (2)  Suresh is the taller than me.
(3)  Suresh is the tallest than me. (4)  Suresh is more taller than I am.
140.  The correct translation of the following sentence is ~
"I AL H g BAE SR TR o SRRy SeT |
(1) Come what may, I'will definitely come (2)  Come what may, I will definitely come
to receive him at the airport. to receive you at the airport.
(3)  Whatever will come, I will come to  (4) Come what may, I will have to come to
receive you at the airport. receive you at the airport.
141. Fill in the blank with the correct modal auxiliary -
Plants .................. have enough sunlight in order to grow faster.
(1 may (2) - can
3  must (4 could
142. Change the following sentence into passive voice -
How have you solved this question?
(1) How this question have been solved by (2)  How have this question been solved by
you? you?
(3)  How this question had been solved by (4  How has this question been solved by
you? you?
143.  Change the following into direct speech -
He said that he worked in a glass factory.
(1) He says, “I work in a glass factory”. (@ He said, “I worked in a glass factory;’.
(3} He said, “I work in a glass factory”.  (4)  He said, “That he worked in a glass
féctory’-’.
144. How de you sign off an official letter?
(1) Sincerely Your’s, (2 Yours’ Sincerely,
() Your’s Sincerely, () Yours Sincerely,
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145.

Fill in the blank with the correct determiner -

You must learn ............ English every day to improve it.
(1) alittle . _ 2 few
(3)  many . @ afew
146.  Choose the correctly spelt word -
(1)  .absense (2  absance
(3)  absence (4)  abcense
147. Which of the following is the correct/appropriate antonym of the given word -
Obdurate '
(1)  daring (2).  amenable
(3)  stubborn (4 abominable
148.  Find the appropriates one word substitute of the following -
One who'pretends to be somebody else in order to trick other people
(1) Excavator ()  Imposter
(3  Swindler (4)  Acrobat
149.  Fill in the blank with the correct sequence of tenses -
When he woke up, his friend ............ left. -
(1)  have been (2  had been
(3)  had already ‘ (4).  was already
150.  Which of the following is the correct/appropriate synonym of the gi_v_en word -
Queasy - k.
(1)  thirsty (@ sick
(3)  enquiring (4)  questioning
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